O d N M T O O~ OW OO O A ANMSTL ONNNOWOWMO O A AN M T O 0O O d AN M T O © N~ 0 o O
=2 ™ A A AN AN AN AN AN AN AN NN ANOO O OO0 0O 0OmS

SN N MO A NN M T IO O~ 0o

— N N Y~ — N

N M T 0



No
41
42
43
44
45
46



1. FY—RY IR ERE D)

15 #ma—k B i 2 B & = /N5 B i
1 0329-100-200-0 T/M ASSY 1
2 0329-110-011-0 G.BOX—&(L) 1
3 0329-110-012-0 G.BOX7—A(R) 1
4 V520-100-801-4 AITEU(A) 8X14 2
5 V201-260-809-0 By 7 A M8X90 8
6 V201-260-810-0 N b M8X100 2
7 V401-160-008-0 SW 8 10
8 V300-260-008-0 V) M8 10
9 V781-160-000-4 TARIXT Y PT1/4 1
10 0329-113-011-1A DL wRV 2

PHEIE (EDDFS2~ (ZED6)EET,



1. FY—Ry I RERED2)

7E H&ma—Fk BB SR #h Bk 5 & /N5E B
1 0329-130-011-0 HSTA =ZA4)L 2
2 V201-250-803-5 IR 4R Wb M8X35 4
3 V201-200-802-5 IR 4R Wb M8X25 4
4 V401-160-008-0 SW 8 12
5  V411-260-008-0 HEDWIEd 8 12
6 V723-102-006-5 oYy 1A,S65 2
7 0329-140-011-0 BDU-10S-L 1 BDU-10S-5207
8  0329-140-014-0 BDU-10S-R 1 BDU-10S-5107
9 V201-260-812-0 IR 4R Wb M8X120 2
10 V201-260-805-0 IR 4R Wb M8X50 2



1. FY—Ry O REREDI)

f7E H&ma—Fk BB Em A F B 5 & /N5E B
1 0329-110-013-0 Za9)39%7ML) 1
2 0329-110-014-0 P¥'¥22 1
3 V600-110-620-3 RBB 6203 6
4 0329-110-200-0A =1%9Y39%7MR)COMP 1
5 0329-110-210-0 N4 % 7 A)COMP 1
6 0329-110-025-0 ANV 900% 4
7 0329-110-015-0 hU45% ¥ (AL 1
8 0329-110-016-0 ——FMIIRB(20X26X12) 3
9 0329-110-220-0 hu49%7MB)COMP 1
10 0329-110-017-0 hU45% % (BL) 1
11 0374-110-016-0 =—FIVR.B(20X26X16) 1
12 V600-110-630-4 RBB 6304 2
13 0329-110-018-0 Fyay-7 2
14 0329-110-019-0 Za9)35999v% 4



1. FVY— Ry XEREDA)

75 Haa—k ER e R Bk g & /NSEEAh
1 0329-110-021-0 FIVYY7MEYN 1
2 0423-501-003-0 NN ILEYRSP 1
3 V411-260-012-0 hEYh % 12 1
4  0407-110-016-1A FIVYY74(B) 1
5 0329-110-022-0 h7-(18) 2
6 0329-110-240-3C YR WI274COMP 1
7 1122-221-013-0 Y=Lk ILF8X20 4
8  V401-160-008-0 SW 8 4
9  V742-112-180-3 A= VC12183 1
10 V200-260-601-0 AN M6X10 1
11 0460-202-003-0 Y=-ILTY9%(6) 1
12 0346-110-200-0 47N —COMP 1
13 0329-110-250-0 P7—LCOMP 1
14 V580-140-502-0 A7YUTE (W) 5X20 1
15 3536-111-008-0 AR ANYH % 1
16 3560-102-029-1A Favaity 1



1. F—Ry Y REZREDS)

(k= 7 B i 2 #5 B iE & /NS B i
1 0329-111-011-0 KNV YIN279) 2
2 V600-110-620-6 RB.B 6206 2
3 0329-111-012-1A RILF ¥—(45) 2
4  V704-140-028-0 CH A ) 28 2
5 0329-111-200-0 K4IN'47°(141)COMP 2
6 0359-110-035-0 7°,128X32X30 2
7 V744-128-380-7 A= TC28387 4
8 0351-110-015-0 A9 4K L 10X30 12
9 V401-160-010-0 SW 10 12



1. Fv—Ry ) RAER(EZED6)

f7E H&ma—Fk HB fm A Fh B 5 & /N5E B
1 0329-141-017-1A TALTE7°4(3) 2
2 0329-141-022-1A oy 2
3 0329-141-018-3C TALT47°4(B) 2
4 0329-141-011-1B HSTH—-A(L) 1
5 0329-141-012-2C HSTH—-Z(R) 1
6 0329-141-014-1B F—AN VN 4
7 4175-936-014-0 FYYFIL-LSP 1
8  0329-141-015-1A AV =+F197°(L) 1
9 0329-141-016-2B IV =+F197°(R) 1
10  0325-503-004-1 e-ha4 3
11 0329-141-400-0 HST7—L(L)COMP 1
12 0329-141-410-1A HST7—LA(R)COMP 1
13 V580-140-502-0 A7V E (W) 5X20 2
14 3536-111-008-0 AR ANYR % 2
15 0761-310-017-0 9k =I(R) 2
16 V401-160-008-0 SW 8 2
17 V304-260-008-0 Ry YW 291 M8 2
18 0329-141-300-1A TALT47°4(A)COMP 1
19  0403-102-013-0 Y-k IWr8X16 1
20 V401-160-008-0 SW 8 1
21 V411-260-008-0 NIEDWIES 8 1



1. FY—RY I REREDT)

fqE H&ma—Fk BB F Ik g & /N5T B
1 0312-115-013-0 WAT P R(NC5) 2
2 V201-461-002-5 IN4FRIWE M10X25 8 9T
3 V401-160-010-0 SW 10 6
4  V411-260-010-0 NIESWIES 10 2
5 V720-103-503-6 oy P36 2
6 0329-120-011-0 FMIWAZ DTYNEY YY) 2
7 0375-120-012-0 A7°0rY R AN R(10) 2
8 0375-120-013-0 NN AMTH2(10) 2
9  V201-460-802-0 sy Y WA M8X20 49T
10  V401-160-008-0 SW 8 4



2. JL—LBE&

15 Eama—k & 2 [ B = /N5 B fifh
1 0329-212-200-3C 7L —L(XS88LAD)COMP 1
2 0329-211-200-1A  7Y%'—h'—FCOMP 1
3 V211-360-802-0 TN 4K WMSP) M8X20 4



3. VN7 —LEE

75 Haa—FK B Sn £ Bz g & /NSEEA
1 0312-240-200-0A #Y7—LCOMP 1
2 0312-240-011-0 MUT—LX7h 1
3 V201-261-002-5 y) TN M10X25 1
4  V300-260-010-0 +9b M10 1
5  V600-150-630-4 RB.B 6304DDU 4
6 V704-140-020-0 CH 4k A7) 20 4
7 0312-240-012-0 TN TU AT 2
8  0312-240-013-0 7°Y2(YIN/25X28X25) 2
9  V203-461-203-5 IR ARIWAGRY A M12X1.25X35 29T
10 V203-461-202-5 IR ARIAGRY A M12X1.25X25 29T
11 V401-160-012-0 Sw 12 4
12 V411-260-012-0 IEDWFd 12 4
13 0312-240-220-0 #7°7—LCOMP 1
14 0312-240-014-0 7°92(YN/25X28X12) 2
15  0312-240-015-0 £°v(25X50) 2
16 0412-204-002-0 ZEAYTUATANY 2
17 V211-250-801-6 IN AR ILMS) M8X16 4



4. )L —LEER

"qE H&ma—Fk BB fm £ #h Ik g & /N5E B
1 0328-245-200-1A )7+7L—LCOMP 1
2 0312-240-013-0 7°92(YN/25X28X25) 2
3 0312-245-011-0 VPN EINIY &R 1
4 V201-261-002-5 R4 b M10X25 2
5 V300-260-010-0 FYb M10 2

-10-



5. Z5 /&

f7E HB&mad—F BB fm £ 5 EE 5 & /N5E B
1 0329-230-210-1A ~4"{(XS81LAD)COMP 1
2 0312-250-011-0 ol ] 1
3 0329-230-011-0 £ 328 17YMXS80) 1
4 0430-204-001-0 77077125 2
5  0326-024-011-0 TV ITIMI 2
6 V203-461-203-5 ) T W ANE V)] M12X1.25X35 6 9T
7 V401-160-012-0 SW 12 6
8 0328-254-220-0 H4A4749(L)YCOMP 1
9  0328-254-230-0 H41A4749(R)ICOMP 1
10  0365-303-001-0 IVIVTIE Y 2
11 V411-260-012-0 NIEL WIS 12 4
12 1305-241-001-0A FANIAVAT-EY 2
13 0328-254-240-1A hAA{H#F(L)COMP 1
14  0328-254-250-1A h4A4#r(R)ICOMP 1
15 V211-361-002-5 I 4K WMSP) M10X25 4
16 V362-260-010-0 NIV 2V Fb 11 M10 4
17  0328-254-260-0 AY+'(200XM10)COMP 2
18  0328-254-011-0 hAN Y 3 Ub 2
19 0661-411-015-0 A71)v9°(20X46X04) 2
20 V411-260-010-0 NIES WIS 10 6
21 V303-260-010-0 a4k M10 8
22 V500-162-502-0 ey 2.5X20 2
23 8935-005-031-0 hn'-sSP 2

_11_



6. ooO-qaJ7 5%k

-12-

qE Hma—Fk BB & % #5 Ik g & /N5E B
1 0329-240-200-1B %YA74(N)81LCOMP 1
2 V211-361-002-5 N 4FK IWMSP) M10X25 6
3 V362-260-010-0 I GEIN EYF TR 11 M10 4
4 0328-262-200-0 9YA7%9T7COMP 1
5 0312-262-011-0 ' —h'—(LAD) 1
6 0412-204-003-0 DANMYTUR LR 1
7 V411-260-010-0 NIEIWIES 10 3
8  0412-204-004-0 Utryrm10) 1
9  0329-240-210-2B %YA74(N)81RCOMP 1
10 0366-302-011-0 UISESAC)N 1
11 0329-240-012-0 D9h A% (XS80)R 1
12 V300-260-010-0 FYk M10 4
13 0359-261-011-0 $Yv7°h%940 2
14 0312-260-220-1A 337/(L)COMP 1
15 0312-260-230-1A 337%(R)COMP 1



7. XTJYUE%

7 Haa—Fk BB EE g & /NSEE
1 0312-262-200-2C ¥I7%(LAD)COMP 1
2 0328-262-200-0 90797 COMP 2
3  V211-361-002-5 04K WMSP) M10X25 4
4 V362-260-010-0 INAYIN R FHyb 12 M10 4
5 0312-262-011-0 £ —Mon—(LAD) 2
6 0412-204-003-0 hAAYTUR Wb 2
7 V411-260-010-0 hEYh % 10 2
8  0412-204-004-0 UtvyMM10) 2

-13-



8. = UAF L AR

1 e 4

—°

fF5 Haa—k R a4 R Bk g = /NSEE
1 0328-266-200-1A SFUN AN =Z(L)COMP
2 0328-266-210-1A S4UN AN =Z(R)YCOMP
3 V211-660-802-0 I 4R IVMSP)7 M8X20 47T
4  \V362-260-008-0 INGHIN 2YF TR 11 M8
5 0328-266-220-1A 3374944 LK (L)COMP 1
6 0328-266-230-1A 33974944 AR)COMP 1
7 0312-266-011-0 34U ASP(L) 1
8  0312-266-012-0 44U ASP(R) 1
9  V211-460-802-5 T AN(Y) M8X25 27T
10 V411-260-008-0 EDWFd 8 2
11 0660-520-012-0 UyMms) 2

_14_



9. Z4 (E4{ZOPT(ZM1)

7 Eagma—k BB F E % g % /NSEE
1 0328-200-001-0 0-7"7Y9ASSY 1
2  0312-264-011-1B %7799 6
3 0312-264-012-0 799950 % 6
4  V201-460-802-0 IN 4R R M8X20 12 9T
5  V411-260-008-0 RES WIS 8 12
6 V401-160-008-0 Sw 8 12
7 V300-460-008-0 +9b M8 12 7T
8 0312-265-200-0 7-F(L)COMP 1
9 0312-265-210-0 7-F(R)COMP 1
10  V211-360-802-0 IN 4K IWMSP) M8X20 6
11 0321-062-011-0 £947(31) 2
12 0321-062-012-0 £ 94790 2
13 V201-260-802-0 Y T[N M8X20 8
14 V362-260-008-0 INBFINRYEFUE 11 M8 8

SR, FE2~1%ED,

_1 5_



9. Z4 A(B{ROPT (£ MD2)

7 Haa—Fk @A B2k g % /NFEEA
1 0312-270-200-0 Y1-FCOMP 1
2 0312-270-220-0 ¥1-+79Y9COMP 1
3 2101-230-001-0A =% 1
4 8935-004-048-0 An-SP 1
5  V411-260-010-0 eI 10 2
6 V500-162-502-0 ey 2.5X20 2

_1 6_



10. FETEEBRER(EDT)

qE H&ma—Fk BB fm A # Ik g /N5T B
1 0328-300-001-0  A—7(135X130)ASSY 8
2 0327-310-200-3E  A—7(135X130)COMP 8
3 0374-310-011-3D  ¥/(20X144) 8
4 V600-110-620-4 RBB 6204 16
5 0376-310-011-0 A4 ILY—IL(20X47X10) 16
6 0374-310-014-0 % AMhN'—(20X47X5) 16
7 3768-361-029-0  O-4%"Y—-hA¥'H'% 20
8 V401-160-010-0 SW 10 20
9  V203-461-002-5 I 4K ILIGREYA) M10X1.25X25 20 9T
10 0329-311-200-0  4354% COMP 2
11 0312-240-013-0  7°Y2(Y1V'/25X28X25) 4
12 0329-311-011-0 13744t 2
13 0327-329-011-0  7Y7°L—-l 2
14 V112-168-003-0  7°3A%#33%Y M8X30 4
15 V304-260-008-0  Ih'4+Yh 291 M8 8

SHB1E, FE2~9Z BT,

-17-



10.

ETRERR(ZD2)

FE Ema—Fk BB Em R Fh = g & INSEEE
1 0327-300-002-0 74N ILA—7ASSY 2
2 0320-303-001-1 74N ILA-5 2
3 0356-203-001-0  7ANI¥7h 2
4 V600-110-620-4 RBB 6204 4
5 V705-140-047-0  CH4MTI(TT) 47 4
6 V742-120-470-6  AANY-I VC20476 4
7 0330-203-003-0  &'9Y uhI- 4
8  V767-400-000-0 % YAZY7lL A-M6F 2
9  V304-260-012-0  Ih™4+Yh 291 M12 4
10 V401-160-012-0  SW 12 4
11 V411-260-012-0  IW440'% 12 4
12 0329-341-200-0  74k350y+(88)COMP 2
13 0329-341-011-1A  H%(35X35X40) 2
14 0351-340-210-0 74N F5EYMKILFCOMP 2
15 V303-260-020-0  Ih™4+vh M20 2
16 0328-350-011-0  /O—3(200X38X72) 2
17 0312-352-011-0  /O—7200X38X72 2 OPT

SHEIE. FE2~11ZET,

-18-



>

1. T

E&k(Z01)

75 Haa—k ERam Bz & = INSEEA
1 0329-411-210-0 IYY'VR9.0(81)tIL EH30DS 1
2 0329-410-011-0 TIA=NIEY 2
3 0329-420-200-2A 1YY YN —ACOMP 1
4 V201-261-005-5 mp T A M10X55 4
5  V411-260-010-0 NIED WIS 10 4
6 V401-160-010-0 SW 10 8
7 V304-260-010-0 InsFYk 291 M10 8
8 3768-361-029-0 A-4% - A% 4
9 0372-423-011-0 Ny D WAL 4
10  8935-058-026-0A SPYITH N % 4
11 V211-161-002-0 I 4R ILMNP) M10X20 8
12 0329-420-230-0 NM79N{F COMP 1
13 V210-360-601-2 ' ILMSP) M6X12 4
14 0329-420-013-0 MITH AR (HI) 1
15  0329-420-014-1A MENANTLQ) 1
16  0329-420-015-0 MENANTLQ2) 1
17  0329-420-240-0 T-IN'47°COMP 1
18 V195-144-010-3 T IREYEVRY 3%1 M4X10 3

-19-



1. IO VER(FD2)

7E Hema—Fk iR B 5 & ALK i
1 0329-431-011-1A NYTYhN = 1
2 V210-260-601-6 K ILMS) M6X16 2
3 V401-160-006-0 SW 6 2
4  V411-260-006-0 NIELWIES 6 2
5 0329-431-016-0 #9Yya h(155) 1
6 0453-455-011-2B NYTY34A(G) 34A19R 1
7 0329-431-012-0 NYTUAHT 1
8  4201-410-022-0 EUVNSWEIyDE WA 9T M6X16 2
9  0329-431-013-0A TLAN Y 1
10  0450-505-013-0 MURYF 1
11 0329-431-200-1A *Ya—-FCOMP 1
12 0450-505-016-0 E1-2"10A 10A 1
13 0329-431-014-0 7°3AY=F Y 1
14 0329-431-015-0 YATAY-F 1Y 1
15  V411-260-006-0 NIEDWIES 6 2

-20-



12. mEE R (EZDT)

s

T

#B i 44 FR

Bz li& /NSEE
1 0329-510-011-1A 7°—1(E)EH30D 1
2 0329-510-012-0 VA'ILM3% SC30HP4) 1
3 0329-510-200-0 AN COMP 1
4  V211-360-802-5 04K WMSP) M8X25 1

_21_



12. IERE R (ZD2)

75 Haa—k B mA E % g /NFEEAh
1 0329-511-200-1A 7MY (LAD)COMP 1
2 V211-360-802-0 N4 WMSP) M8X20 3
3 0329-511-210-1A Y9703 7—-LCOMP 1
4  4173-301-005-0 A)9F A7 Y2 2
5  3737-314-003-0A 7°—Y(FT070X32) 1
6 V704-140-015-0 CH AT ™Y) 15 1
7 V411-260-012-0 eSS 12 1
8  1305-241-001-0A HANAYAT-EY 1
9  8935-004-048-0 An'-SP 1

10 0328-512-011-0 w777 1
11 V211-261-002-0 Y TR ANE)) M10X20 1
12 8935-058-026-0A SPYTYH % 1
13 V817-200-032-0 VA' LR SB-32LYH 1
14 0329-511-250-1A A ILMIN—COMP 1
15  V200-260-601-2 G/ M6X12 4
16 V401-160-006-0 SW 6 4
17 V411-260-006-0 HIED W 6 4

_22_



12. zEE &R (ZD3I)

4
75 Hea—Fk BB E%k g % N R i
1 0329-540-200-0 h04% 979 COMP 1
2 V600-150-620-4 RB.B 6204DDU 2
3 0329-540-012-0 RV UY—I(47X28) 2
4 V705-140-047-0 CH 8k A9(7 1) 47 2
5  0329-540-011-0 hv48yh 1
6 V211-360-802-0 iy T W AN =) M8X20 4

-23-



12. mEE &R (ZD4)

f7E H&ma—Fk BB Em £ #h B & /N5E B
1 0329-550-200-0 7°—1)(YFCOMP 1
2 0329-550-210-0 7°=Y(F)COMP 1
3 0329-550-220-0 7°—1)COMP 1
4 V201-460-802-0 T A M8X20 29T
5 3782-131-014-0 o-4%"91v7 2
6 8935-001-065-0 TAO-LY H%- 1
7  8935-002-038-0 o-%- 1
8  0329-550-016-0 FODI 2
9  0329-550-011-1A VA'ILM3) SB26HP4) 2
10 0329-550-230-1A HSTTYY3Y7—L(L)COMP 1
11 0329-550-240-1A HSTTvY3v7—L(R)ICOMP 1
12 1394-221-202-0 7°Y1(12X14X15) 4
13 V704-140-017-0 CH AT ™Y) 17 2
14 0329-550-017-2B TUv3A07°-1)(55) 2
15 V410-260-012-0 INAYH % 12 2
16 V500-163-001-8 ey 3X18 2
17 0329-550-023-0 HSTTVY3AUSP 2
18  0329-550-018-1A RV VN —(42) 2
19  0329-550-021-0 442YR.B.B(6203) 2
20 V705-140-040-0 CH 4 TI(TT) 40 2
21 V705-140-042-0 Ch ab AT 1) 42 2



12. zEE &% (ZD5)

15 Bma—k TRk B2 B % /NS B i
1 0329-550-300-1A HST7'-)JCOMP 2
2 0329-550-015-0 %-(05X05X30) 2
3 0329-140-012-0 I7o-L 1
4  0329-140-015-0 77-R 1
5 0329-550-019-0 OZ N E" 2
6 0329-550-022-0 I7IRTIN A 2
7 V210-250-602-0 K IMS) M6X20 4
8 V210-250-603-0 K IMS) M6X30 2

-25-



13. A7V FEZR(EZDNT)

17
15
16

7B EHama—k BB fn £ Bz fi& /NSEE
1 0328-531-200-0 179k V7°L3-160 1
2 V211-360-802-0 I 4R IVMSP) M8X20 4
3 0311-530-015-0A AR NI A 1
4  V721-103-102-5 oy G25 1
5 0312-530-024-0 F1-7'(5X3X130) 1
6 0329-530-200-0A #Y7° LN —COMP 1
7 3640-585-001-0A —X)({z1o-) 1
8  V201-261-002-0 Y T[N M10X20 1
9  V401-100-010-0 SW 10 1
10 V410-260-010-0 iy R S 10 1
11 0329-531-011-0A N7 (FYHI)XS80 1
12 V200-260-605-0 LA M6X50 2
13 V360-260-006-0 BIN2FFYb 121 M6 2
14 0329-531-012-0 H—2A(280) 1
15  0412-205-009-0 90" IV 3
16  0312-530-023-0 LY 1-H(FRFR) 1
17 0329-530-024-0A IRV 4UM1059-6) 1

_26_



13. A7YVYOFER(ZDN2)

7E H&sma—F @A B & & /NG Bl
1 0328-530-300-2C Y)Y4°(235-365)ASSY 1
2 0312-530-210-2C Y1)v4°(235)%7°COMP 1
3 0328-530-301-1A Yk (364) 1
4  0315-303-222-0 Ay hn- 1
5 0315-303-223-1A E'AbY 1
6 0315-303-224-0 4 2h-I135 1
7  0315-303-225-0 Un'v%v35 1
8 V721-103-105-8 oYvy G58 1
9  V720-102-402-0 oyvy P20 1
10 0315-303-226-0 Un'v+v63 2
11 0433-025-013-0 AYAIT IR 1
12 V411-260-016-0 NIEDWIES 16 1
13 V330-460-016-0 FybEy A M16X1.5 17T
14 0312-530-014-0 £°v(20X144) 1
15 V183-448-002-0 BIhYTHHR IR M8X20 19T
16 V302-260-008-0 FYb 391 M8 1
17 0312-530-015-0 £°»(20X156) 1
18  V411-260-020-0 NIEDWIES 20 2
19 V500-165-003-0 ey 5X30 2
20 0312-530-016-0A £—2(2400) 1

SEHEX., FBE2~13%28T,

_27_



13. A7V FEIR (ZD2)

(0

-
o= Bma—F B i 2 #5 B E = /NTEE
21 0312-530-017-0A ik—A(2750) 1
22 0412-205-009-0 90’ T 4
23 0312-530-018-1 f—Ahn - 3
24 0312-530-019-0 RN 2
25 3536-142-006-1 DER S/ 1
26  0325-503-004-1 e~ 3
27 3746-172-013-0 N=2ANUK 1

-28-



13. A7YVIFER(ZD3I)

7E H&ma—Fk BB Em A F E%k 5 & AL i
1 0328-531-300-2C Y1)»4°(155-300)RASSY 1
2 0312-530-230-1B CYL155R%7°COMP 1
3 0347-530-301-1A ayh'(294) 1
4  0315-303-222-0 oYk hn'- 1
5 0315-303-223-1A ARy 1
6 0315-303-224-0 4 AM-I135 1
7 0315-303-225-0 Uny+35 1
8 V721-103-105-8 oYy G58 1
9  V720-102-402-0 oYy P20 1
10 0315-303-226-0 Un'v%63 2
11 0433-025-013-0 VY UNSWEISESA 1
12 V411-260-016-0 I E S 16 1
13 V330-460-016-0 FubGRY») M16X1.5 17T
14 0312-530-021-0 £"(20X108) 1
15 V704-140-020-0 KIS YIOX)! 20 1
16  0417-205-001-0 87U TUA 1
17 V411-260-020-0 RS 20 1
18  V500-165-003-0 ey 5X30 1
19 0312-530-022-0A £—2(810) 1
20 0326-053-016-0A £—-2(3210) 1
21 0412-205-009-0 90°TLF’ 3
22 0312-530-018-1 F—2hn'— 1

>HEIX. FB2~13%E5T,

_29_



14. 846 HN\—FEFR(ZD1)

#qE Hma—Fk BB Em A #h =k B & /N5E B fiff
1 0329-610-270-0A NNV (81)COMP 1
2 V211-361-002-5 N 4FK WMSP) M10X25 6
3 0329-610-280-2B NN ILCOMP 1
4 V201-361-009-0 INGR Wb M10X90 17T
5  V201-461-003-0 INGR Wb M10X30 19T
6 V302-260-010-0 FYk 3%1 M10 4
7 V411-260-010-0 NIEIWIES 10 4
8  0329-610-290-0A $4FHn'—(81)COMP 1
9  V211-360-802-0 I 4K WMSP) M8X20 4

-30-



14. 121 Hh/\—BER(FD2)

#qE Hama—~k B Sm A Fh B B & /NST B
1 0329-620-510-3D AM7°Y¥7+81COMP 1
2 0329-620-046-1A FAVEYT-L 3
3 V200-260-602-0 CWAY M6X20 6
4  3789-151-006-0 2=V 12
5  V361-260-006-0 PINRYETYL 291 M6 6
6 0329-620-016-0 A—7(A) 1
7 V411-260-008-0 NIED WIS 8 5
8  8935-009-013-0 DAY 7VHANAT-£Y 5
9  0329-620-034-0 799%(22X35X1.6) 1
10  0329-620-200-2B Y139939FLN—COMP 1
11 0329-620-011-0 F—2(10X12X158) 1
12 0329-620-012-1A Hh5—(22X30X7) 1
13 8935-185-017-0 *UhILN'-SP 1
14 3517-105-004-0 Ln-2%7) 1
15 3902-240-003-0 A7)y (HE085) 1
16 0329-620-210-1B P7'L—%7-LCOMP 1
17 0329-620-013-2C =7 M7 L—%) 1
18  0329-620-220-0 TY¥3U7—-LCOMP 1
19 V580-140-603-2 A7V E (W) 6X32 1
20 3536-111-008-0 RN ANI % 1

_31_



14. #82E-H/\—B&R(FD2)

@
F
&
:
i

q7E H&Hma—Fk B Em £ Fh Bz g = /NSE R
21  0329-620-014-2B =7 M(J%a7) 1
22  1337-401-006-0C MI)FIFRT YUY 1
23 0329-620-025-0 k=7"vhn'—(200) 1
24 0329-620-230-2B 439F0Y8 7' L—FCOMP 1
25 0329-620-300-1A AMINYTUHHFICOMP 2
26 0329-620-017-0 DU7"Y1(15X17X10) 2
27 V211-360-801-6 IN 4K IWMSP) M8X16 4
28 0329-620-560-1A AMYNT—LCOMP 1
29 0329-620-043-0 AN LN- 1
30 0770-741-012-0 FILMM6EX12)98 1
31  3914-550-016-0 S.W(6)4n 1
32 0770-510-015-0 w3 y7(90) 1
33 8935-004-048-0 hn'-sp 1

-32-



14. #&45-h/ 3 —B&R (ZD3)

75 Eama—Fk EB Sm £ FE {E %R g & INSE R
1 0329-620-450-0 Y¥nU LCOMP 1
2 0329-620-049-0 £vv7°(22) 2
3  P115-610-012-0 571)97°(25X85) 2
4 V183-448-001-2 0997 oK I ARy M8X12 29T
5  V304-270-008-0 my SN M8 2
6 0329-620-460-1A Y%L —COMP 1
7 0329-620-017-0 DU7"a1(15X17X10) 1
8 0374-511-011-0 DU7"1(16X18X12) 1
9  V704-140-015-0 Ch ab DY) 15 1
10 3650-213-003-0 FIVY LN -2%") 1
11 0329-620-047-0 yhn- 1

_33_



14. #4571\ —B& (ZD4)

L

28 29 23

#qE Hama—~k B Sm A Fh B B & /NST B
1 0329-620-470-1B YTUEYCOMP 1
2 0329-620-480-1B Y9N =Y TUCOMP 1
3 0329-620-017-0 DU7"Y1(15X17X10) 4
4 V411-260-008-0 NIEDWIES 8 6
5  V401-160-008-0 SW 8 1
6  V304-260-008-0 Y 5] 291 M8 2
7 0329-620-015-0 Aa—-5(1) 3
8  8935-009-013-0 DA¥7Y9AAT-EY 3
9  0329-620-042-2B A9’ L—b 1
10 V211-360-802-0 IN 4K IWMSP) M8X20 2
11 0329-620-041-1A YAl =% 1
12 0329-620-500-1A YTk ACOMP 1
13 0329-620-570-0 7—-L50COMP 1
14 V580-140-603-2 A7V E (W) 6X32 1
15 3536-111-008-0 RN AND % 1
16  0329-620-490-0 tUB4ANINT—LCOMP 1
17  V500-162-501-5 ey 2.5X15 2
18  8935-004-048-0 An-sp 1
19  0329-620-270-1A 979F 74 I(L)COMP 1
20 0329-620-280-1A 97977 I(R)COMP 1

_34_



14. #45- D1\ —FEFR (ZD4)

5 Hma—k B 2 5 B g & /NS B i
21 0329-620-033-0 YivDU7 Y1(15X17X10) 2
22 V211-360-801-6 IN4RIVMSP) M8X16 4
23 0329-620-032-0 Y75 b 1
24  V411-260-016-0 RS 16 2
25 V300-260-016-0 TUb M16 1
26 V680-200-001-0 AF-IEK =L 5/16 1
27 0152-401-016-0 YRV 1
28 V201-261-003-5 N4 M10X35 1
29 V304-260-010-0 By 21 M10 1

-35-



14. ##4F- D\ —BE&R (ZD5)

7E H&sma—F BB Em & F Bz & & INFEEAA
1 0329-620-310-1A 4397090 Y I(L)COMP 1
2 0329-620-320-1A 4797090 I(R)ICOMP 1
3 V300-260-010-0 TYk M10 2
4  0351-623-014-0 7Y Y AMYE 2
5 0375-611-014-0 TYMEZM10) 2
6 V411-260-010-0 NIE S 10 2
7 1305-241-001-0A RANAYAT-EY 2
8  8935-058-026-0A SPYSH N % 2
9  V500-162-502-0 ey 2.5X20 2
10  0329-620-044-0 979F0YE YA(L)81 2

_36_



14. #8245 -h/\—F& (£ D6)

13
14
15
7E H&ma—Fk BB Em A F B 5 & /NFEEE i
1 0329-620-520-2B 939%YT7YCOMP 1
2 0329-620-350-1A HSTH7YFM)Y(LYCOMP 1
3 0329-620-360-1A HSTH7YFM)Y(R)ICOMP 1
4 1394-222-011-0 DU7'Y1(1515) 2
5 V211-360-802-0 I 4R ILMSP) M8X20 4
6 V201-260-802-5 myi LT A M8X25 2
7 V303-260-008-0 InaFYk M8 2
8  0329-620-045-1A 7—L(87) 1
9  0329-620-048-0 A7 (HCO18) 1
10  V411-260-006-0 N 6 1
11 V200-460-603-0 WA M6X30 19T
12 V210-360-601-6 K IWMSP) M6X16 2
13 0329-620-540-1A HSTAYF'81(L)YCOMP 1
14  3900-540-016-0 274 YMLMS) 1
15 0329-620-036-0 TV YAMR Vb 1
16  V304-260-008-0 myE SN 2%1 M8 2
17 V410-260-010-0 MY % 10 2
18  V704-140-010-0 Ch ab A h) 10 2
19  0329-620-550-2B HSTAYF81(R)ICOMP 1

_37_



14, 845 -DN\—FFZR(ZDT)

7E Hama—Fk BB m £ Fh Bz g = /NSE R
1 0329-620-390-2B TYNIVYTYCOMP 1
2 0329-620-580-0 TYNIUNAUNIL81COMP 1
3 0329-620-022-0 E°(10X31) 1
4  V411-260-008-0 hEYh % 8 2
5  V401-160-008-0 SW 8 1
6 V304-200-008-0 iy 5 ] 21 M8 2
7 V411-260-010-0 IEDWEd 10 8
8  1305-241-001-0A KANIAYVAT-EY 4
9  0329-620-023-0 TYNIUYTUE Y 1
10  0329-620-024-0 HINR(8) 2
11 V341-120-008-0 In47908Fyk M8 1

_38_



14. &4 - H/\—BE1%R (ZD8)

#qE H&ma—Fk BB SR Fh Bk & & /NFE B
1 0404-625-011-0 ADYMLLN - 1
2 0329-621-011-0 =7 W(ARYRL) 1
3 0329-621-012-0 r=7"(F3-%) 1
4 0325-503-004-1 E'-pq 1
5  0410-202-008-0A NENEYYT 1

-39-



14. 1245 -H/\—BE1R (ZFD9)

5 #ma—k =L ) E% & & UAL-Xii
1 0329-630-230-0B  1-Fhn'—~(L)88COMP 1
2 0329-630-210-3D  1-Fhn'—(R)COMP 1
3 0329-630-012-1A  I—FhAn'—(7M)81 1
4 V211-360-802-0 N4k LMSP) M8X20 12

-40-



15. ACCRH{®&OPT

"E Haa—k i EE= ] B & & /NFEE
1 0347-711-200-0 597°(12V-25W)SET 1
2 0328-700-002-0 397 (12V-25W) 1
3 V201-260-802-0 myi LT A M8X20 1
4  3782-131-014-0 A-4v"9)v7 2
5  V401-160-008-0 SW 8 1
6 V300-260-008-0 FYk M8 1
7  0329-710-011-0 77°3-+(650) 1
8  4162-802-105-0 1-Fk3 T4 1
9  3536-142-006-1 D4v-k A0ty 1
10  0343-430-019-0 12V-25WnIL7° 1

>SHEIX. FBE2~102E5T,

_41_



16. 7O M)H—E&ROPT

?,c

( (O

e
RN |

¢

O u;

S
1

c

14

1

SEE1E., FFE2~9%ET,

_42_

7E H&mad—Fk BB SR Fh Bk i & /NFE B
1 0325-305-000-0A TOMA ASSY 1
2 0325-305-200-0 77N H'COMP 2
3 0325-305-001-0 Iy AL 2
4 0325-305-002-0 TOMN YT/ 2
5  V300-260-010-0 FYb M10 16
6 0325-305-004-0 TOMBA-R 2
7 V201-261-003-0 Y T WA M10X30 8
8 V401-160-010-0 SW 10 8
9  0345-201-270-0 S8y LCOMP 1



17. =B & (ZD1)

Bama—k

0 i A FF

/N5T B

ES
o - 3
O R Ne D©®O®No cn.l;wN—‘Jln

0329-911-011-0
0329-910-042-0
0329-911-014-0
0329-911-015-0
0328-910-013-0

3535-106-001-0
3535-106-002-0
0329-910-021-0
0312-910-015-0
0329-910-016-0

0329-910-022-0
0438-910-023-0
0329-910-025-0
0329-911-012-0
0329-911-013-0

$1v-%(800)
N2ILT-4(88)

FN (/R 79800)L
FN V(4 79800)R
YAV L-)
NINTUE UN-)
NIYTOE UN-H%
FUYYY T—4h(XS80)
%171v-%(2700)
tE44¥45 v-5(800)

7ot Uv—4(XS80)
TTVIRLVG (M)
=9 A91AI)
FAN (4R 800)L
FN V(M 800)R

-43-

—_ -

_—_ = NN

—_ =



17. *— B %R (£MD2)

75 Haa—k @A Bk 5 & /NFEEE i
1 0453-916-011-0 INWETY /ANy 1
2 0453-910-021-0 IN Wy /nh8) 1
3 0453-910-022-0 INVETY/Z5 1) 1
4 0453-910-024-0 INWETAH/I09°Y) 1
5 0453-910-028-0 FN (434 /9310Y) 1
6 0453-910-029-0 FN 42 /2%449) 1
7 0329-910-034-0 N W49/ =Vh4TY) 1
8  0329-910-033-0 INW439/770) 1
9  0453-910-027-0 INIWFL94 /M) 1

1

—_
o

0337-929-021-0 INIWFa94/90TIEUNS

-44-



17. I—OB%R (ZMD3)

"qE Hama—Fk BB Em A FE Bk 5 & /N5T B
1 0329-913-012-0 17Y%HhIv—9XS80 1
2 0312-912-013-0 A7YLN =34 1
3 0374-910-015-0 A7YYIHFIIAI-Y 1
4 0453-910-023-0 FA M43/ NYTY) 1
5 0367-901-003-0 F-A{VFV-) 1

-45-



18. {FtH Mm% -OPT

oS

<

1.2
75 Hea—Fk @A E % g % /INFEE
1 0329-940-014-0 MJ7Yh4EY #43(800) 1 XS800LADEL A
2 0329-940-015-0 MJ7Yh4EY #43(800B) 1 XS800LADBE FH
3  P103-931-004-1B NYT =) 1
4 V910-550-002-7 W9 FANTRNL) 27 1
5 0360-302—-004-0A FI90-7 297 Wb 1
6 V767-400-000-0 FYAZYT I A-M6F 1
7 0312-940-012-0 v'3-0 1
8  0329-930-200-0 Y—MIN=(NT-1-R) 1 OPT

_46_



	目次
	1.ギヤーボックス関係
	ギヤーボックス関係(その1)
	ギヤーボックス関係(その2)
	ギヤーボックス関係(その3)
	ギヤーボックス関係(その4)
	ギヤーボックス関係(その5)
	ギヤーボックス関係(その6)
	ギヤーボックス関係(その7)

	2.フレーム関係
	フレーム関係

	3.リフトアーム関係
	リフトアーム関係

	4.リフトフレーム関係
	リフトフレーム関係

	5.ニダイ関係
	ニダイ関係

	6.ウシロ・ヨコワク関係
	ウシロ・ヨコワク関係

	7.マエワク関係
	マエワク関係

	8.ニワクタオレドメ関係
	ニワクタオレドメ関係

	9.ニダイ関係ＯＰＴ
	ニダイ関係ＯＰＴ（その1）
	ニダイ関係ＯＰＴ（その2）

	10.走行装置関係
	走行装置関係（その１）
	走行装置関係（その2）

	11.エンジン関係
	エンジン関係（その1）
	エンジン関係（その2）

	12.伝導関係
	伝導関係（その１）
	伝導関係（その2）
	伝導関係（その3）
	伝導関係（その4）
	伝導関係（その5）

	13.ユアツソウチ関係
	ユアツソウチ関係（その1）
	ユアツソウチ関係（その2）
	ユアツソウチ関係（その3）

	14.操作・カバー関係
	操作・カバー関係（その1）
	操作・カバー関係（その2）
	操作・カバー関係（その3）
	操作・カバー関係（その4）
	操作・カバー関係（その5）
	操作・カバー関係（その6）
	操作・カバー関係（その7）
	操作・カバー関係（その8）
	操作・カバー関係（その9）

	15.ＡＣＣ関係ＯＰＴ
	ＡＣＣ関係ＯＰＴ

	16.アウトリガー関係ＯＰＴ
	アウトリガー関係ＯＰＴ

	17.マーク関係
	マーク関係（その1）
	マーク関係（その2）
	マーク関係（その3）

	18.付帯品関係・ＯＰＴ
	付帯品関係・ＯＰＴ


